	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated (Total)		1,510.0	850.00	1,283,500	lbs.	\$618,134
Seed - Non-irrigated (Total)		1,510.0	1,360.00	2,053,600	lbs.	\$98,984
Cotton (Total)	*	1,510.0				\$717,117
FORESTRY						
Pulpwood						
Pine				56,708	cords	
Hardwood				18,441	cords	
Pulpwood (Total)				75,149		
Chip & Saw (Total)				2,725	cords	
Saw Timber						
Pine				23,849,184	board feet	
Hardwood				2,836,196	board feet	
Saw Timber (Total)				26,685,380		
Total Pulpwood, Chip & Saw,				, ,		\$20,033,418
Saw Timber FOB Mill						
Total Forestry Stumpage						\$11,310,824
(Total)						, ,
Christmas Trees (Total)	*			800	trees	\$32,000
Forestry (Total)						\$20,065,418
FEED GRAINS						, ,
Corn (Total)	*	430.0	125.00	53,750	bu.	\$142,438
Grain Sorghum (Total)	*	819.0	85.00	69,615	cwt.	\$326,216
Feed Grains (Total)		1,249.0		,		\$468,653
HAY FOR SALE		,				
Grass (Total)	110	8,000.0	1.25	10,000	tons	\$924,000
Hay for Sale (Total)		8,000.0		,		\$924,000
Home Gardens (Total)	4,500	-,				\$900,000
NURSERY CROPS	,					,
Floraculture & Bedding	*				acre	\$25,000
Plants (Total)						. ,
EVANGELINE PARISH						
E / III (GEEII (E I / III (G))						

EVANGEL.	INE	PA	RISE	1

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
NURSERY CROPS						
Woody Ornamentals (Total)	*				acre	\$800,000
Nursery Crops (Total)						\$825,000
PECANS						
Native (Total)	35	20.0	250.00	5,000	lbs.	\$4,750
Pecans (Total)		20.0				\$4,750
Rice (Total)	105	34,264.0	59.94	2,053,784	cwt.	\$18,278,678
Soybeans (Total)	41	14,466.0	30.00	433,980	bu.	\$2,541,387
SUGARCANE						
Raw Sugar (Total)	*	810.0	4,760.00	3,855,600	lbs.	\$462,672
Molasses (Total)		810.0	143.00	115,830	gal.	\$23,166
Sugarcane (Total)		810.0				\$485,838
SWEET POTATOES						
Canning (Total)				61,594		\$338,767
Fresh (Total)				75,281		\$809,271
Sweet Potatoes (Total)	*	365.0	375.00	136,875	bu. (50 lbs.)	\$1,148,038
Wheat (Total)	*	1,298.0	65.00	84,370	bu.	\$338,619
TOTAL ALL PLANT ENTERPRIS	ES					\$46,697,498

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION Number of Units of Total Units of Gross Farm Fisheries Producers Production Value Production Measure AQUACULTURE 110 14,450,000 lbs. Crawfish (Farm) (Total) 22,000 Acres in Prod. \$17,340,000 \$1,429,865 Alligators (Farm) (Total) 51,066 ft. Aquaculture (Total) \$18,769,865 Alligators (Wild) (Total) 630 ft. \$15,750 **HUNTING LEASES** Waterfowl (Total) 55 19,500 No. Acres \$975,000 acre Leased

HUNTING LEASES

All Other Game (Total)	180	85,000 No. Acres	acre	\$595,000
		Leased		
Hunting Leases (Total)				\$1,570,000
Honey (Total)	*	24 No. Hives	960 lbs.	\$864
TOTAL ALL FISHERIES & WIL	LDLIFE ENTERPRISES			\$20,356,479

EVANGELINE PARISH

EVANGELINE PARISH

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,941	head	\$964,881
400-500 lbs.			2,265	head	\$1,263,360
500-600 lbs.			1,618	head	\$990,548
600-700 lbs.			647	head	\$444,732
Steer Calves (Total)					\$3,663,520
Heifer Calves					
300-400 lbs.			1,941	head	\$856,864
400-500 lbs.			2,265	head	\$1,181,820
500-600 lbs.			1,618	head	\$935,374
600-700 lbs.			647	head	\$430,980
Heifer Calves (Total)					\$3,405,038
Yearling Cattle					
600-700 lbs.			1,133	head	\$736,082
700-800 lbs.			485	head	\$345,381
Yearling Cattle (Total)					\$1,081,462
Cow-Calf Pairs (Total)			1,103	pair	\$1,048,082
Cull Cows (Total)			919	head	\$347,612
Cull Bulls (Total)			184	head	\$155,581
Cattle & Calves (Total)		No. Cows			\$9,701,296
HORSES					
Brood Mares					
Race Horses	14	150 No. Brood N		head	\$1,016,000
Show Horses	*	40 No. Brood N		head	\$144,000
Recreation Horses	135	405 No. Brood N	Mares 372	head	\$558,000
Brood Mares (Total)					\$1,718,000
Stud Fees					
Race Horses	10	10 No. Stallions		mares bred	\$1,500,000
Show Horses		5 No. Stallions	s 225	mares bred	\$337,500

HORSES						
Recreation Horses		22	No. Stallions	880	mares bred	\$440,000
Stud Fees (Total)						\$2,277,500
Race Horses (Total)	30			95	head	\$1,140,000
Show Horses (Total)	15			38	head	\$190,000
Recreation Horses (Total)	512			1,280	head	\$1,920,000
Horses (Total)						\$7,245,500
POULTRY						
Broilers (Total)	*			3,000	lbs.	\$1,929
Edible Eggs (Total)	7	175	No. Hens	2,100	doz. eggs sold	\$1,499
Cull Hens (Total)				560	lbs.	\$34
Poultry (Total)						\$3,462
Quail (Total)	*	1,000	No. Breed	800	each	\$1,600
			Stock			
SHEEP						
Wool (Total)		624	No. Sheared	3,040	cwt.	\$760
Slaughter Lambs (Total)				86	head	\$13,438
Feeder Lambs (Total)				105	head	\$7,875
Show Lambs (Total)				135	head	\$40,500
Stocker Sheep (Total)				26	head	\$1,950
Cull Sheep (Total)				15	head	\$750
Sheep (Total)	*	261	No.Breeding			\$65,273
			Ewes			
GOATS						
Show Goats (Total)				90	head	\$22,500
Slaughter Goats (Total)				464	head	\$58,000
Stocker Goats (Total)				284	head	\$26,980
Cull Goats (Total)				82	head	\$5,330
Goats (Total)	12	671	No. Does			\$112,810
SWINE						
Show Pigs (Total)				100	head	\$28,000
Feeder Pigs (Total)				120	head	\$3,600
Slaughter Hogs (Total)				52	head	\$6,252
Culls (Total)				5	head	\$800

EVANGELINE PARISH

EVANGELINE PARISH ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Swine (Total)	*	20 No. Sows			\$38,652
TOTAL ALL ANIMAL	ENTERPRISES				\$17,168,592

\$84,222,568 **EVANGELINE PARISH**